*1

*2

*3

*4

Vol.32 No.2 2010

0.50 0.05
H/V
1.
5)
R e
2
b]
(3)
1/2
2.1
& 8m
2
6.5m 19m
4m 14m
Gl
K A C 2
A B E
G2 G3
Gl G4 G5 D
G3 G4
2.2
*2 ( )
*3 ()
*4 ( )

-1093-



(kh)

© f?
T, =20n /W—/gzz.oi )0 \ T (M M F
! Ky \/g WXKh}*/(Sy Khy
T, () e e
e w (kN) —
= K, (=W K,,/3,) (kN/m) _ (M-6)
dy (m)
Ky ( )
— - (M)
h (~5)
P (F~3)
1
A 8 G2,G3
B 14 G2,G3
C 9 G1,G4,G5
D 16 G3,G4
E 16 G2,G3
(
) ar  1.00
pm 120
2.3
3 I
i | i
| rrr || Frr || FTT |
4 3ch I ] I
200Hz 60 | (hanning , =20) |
’ | : |
A Sm 10m ¢ \|/
BE)Cx) DxE)YCX)) (AX)/A(2)
6) A HPF=0.1 LPF=2.0 || GI:HPF=0.00 LPF=0.10
G2:HPF=0.10 LPF=0.25
G3:HPF=0.25 LPF=0.50
c HPF G4:HPF=0.50 LPF=0.75
LpF G5:HPF=0.75 LPF=1.00
B D | |
4
4
3 B ( FFT )
C D 4 20 hanning

-1094-



B(x) D(x)
C(x)
A FFT
20
A(x)
1
5 A R3(G3 )
C RI17(G5 )
D R4(G4 )
(b) ()
(d)
(@) (b)
B(x)
H/V 1
3.1 /
8 12 A E
() (b)

B x
1
0.1Hz 2.0Hz
1
3
hanning
A(z)
6
7
(a)
© (@
D(x)
5 7

-1095-

10 100
—B(x)/C(x)
—D(x)/C(x),
R 10
1 i
1
— ARX)A(z)
0.1 0.1
0.1 1 10 0.1 1 10
) (s)
(a) (b)
20 20
JoYo M
15 15 / />
7
10 + 10
5 et : 5
w0 HOA———— | 0 pEA———i
5 GO AR/A@BXIC(X) s =0~ A(x)/A(2),B(x)/C(x) LUMW“WW
10 =0~ A(x)/A(z),D(x)/C(x) =0~ A(x)/A(2),D(X)/C(x)
- 10
0 0.2 04 0.6 0.8 1 0 02040608 1 _
()0.20 (d)0.43
5 ( A R3 G3 )
10 100 .
—B(x)/C(x)
i
f’\w — Dx)/Cx)
10 r
A
1 e
—A(x)/A(z)l
0.1 0.1
0.1 1 10 0.1 1 10
) (s)
(b)
15 :
10 4 T=027(s) |i
5 R ;,
0 4
- 5 4
B (U et s s e IS U J sttt
15 O=0=AX)/A@).B(x)/C(x) 15 O-0~AX)/A(2)B(x)/C(x) —
50 -0~ A(X)/A(2).DX)/C(x) -0~ A(x)/A(2).D(x)/C(x)
0 02040608 1 0 02040608 1
(©)0.87 (d)0.27
6 ( C R17 G5 )
10 100
—B(x)/C(x)
—D(x)/C(x)
SN ]
! N —
1
’ —AX)/A(2)
0.1 - 0.1
0.1 1 10 0.1 1 10
(s) )
(b)
10 s
[ 1=0.3005) | /b
/ :
0 e H
N oo N : :
-10 =0~ A(x)/A(z),B(x)/C(x) <0~ A(x)/A(2).B(x)/C(x)
s -0~ A(x)/A(2).D(x)/C(x) s -0-A(x)VA(2).D(x)/IC(x) | Sl
0 02040608 1 0 0204 0608 1
(c)0.58 (d)0.30
7 ( D R4 G4 )



~05 & 0.5
ES— R5- R6- R7- R&- R9--R10 Ri]
0 : = S 00
0 0.1 0.2 03
(km) T

L]

(@ °

8 A

0.2 0.3

(km)

0.4

(@) (b)

1.0
0.5
0
1.0
E : 0.5
E i.
{J
""" 0
0.4

0.3
(km)

0.4 0.5

0.3

. 0.4
(km)

0.5

0 0.1 0.2 0.3 0.4 0.5 0.6 0 0.1 0.2 0.3
(km)
(@) (b)
12 E
8(b) 12(b)
8(a) 12(a) /
/
B E
/ 040 0.61 C D
0.50 0.049
2.0 1.46

-1096-

0.95

/ 0.57
0.224



2.0
© y=0.0211x + 0.7471
o R>=0.1286
15
~ 10
0.5
R>=0.0188
0 . ‘
0 5 10 15 20
(m)
13 /
3.2 /
13 14 /
/
/
3.3 /
0.50 0.33
2
5%
15
/
(1 041
L 033x[ 00y
1-0.15

10m

© y=0.1308x + 0.5879 2
| o R2=0.2477 5)
o o o o
o o o
S v <> o < < >
g ¢
y=0.0007x + 0.5011 o > o >
 R2=0.0002 = =
o > =
Gl G2 G3 G4 G5
14 /
8m
dy
3.4
1 4 10
) 107
10
4 10

7

-1097-




R8 G2
15
3
16
Tin
410
2
T,
4.
M
@
(€)
4

C

0.50

C

R19

T'l. n

50

A RI7T G2
RI9 G4
15(b)
Ty
25
0.049

B 0.7 :
0.6 f---- s
(O S R C o H—
04 [----1--/4-+
D=
15(a) 0.3 [----if -k L=
02 |--fa-- DL 1
|/ ... |—=-D 1
0.1 3 o .
0 e 0 e
0 30 60 90 120 150 0 30 60 90 120 150
(mm) (mm)
(a) (b
15 ( C R19 G4 )
Ty
3
A R7 B RS C RI9
- Teq(s)| Tin(s) | Teg(8) | Tin(8) | Teg(s) | Tin(s)
Ty T — = — Joass | — o394 | — [o284
1 D+L 0.889 | 0.614 | 0.715 | 0.545 | 0.520 | 0.360
2 1 0.888 | 0.613 | 0.716 | 0.545 | 0.521 | 0.360
3 4 D+L — 0.522 — 0.458 — 0.297
4 4 — 0.520 — 0.458 — 0.297
5 10 D+L — 0.494 — 0.429 — 0.279
6 10 — 0.496 — 0.429 — 0.279
0.8 0.6
0.7 05 I H
0.6 :
05 - ! M 6 T
2 2 al 2 : :
T, 04 ; , 03 fooofoooooooc &
04 Ittt 03 [MA Dmm) 02 (2D
03 || O DtL(Tin) 02 || © DL(tin) O D+L(Tin)
0.2 A D (Teq) ’ A& D(Teq) o1 A D (Teq)
01 O D+L(Teq) 0.1 { © D+L(Teq) : O D+L(Teq)
0.0 0.0 0.0
1 4 10 1 4 10 1 4 10
(a) A R7 (b) B R8 (o) C RI19
16
1)
1999
2)
2006
3)
Vol.3 No.8 pp.41-49 1989
4)
Vol.4 No.9 pp.14-21 1990
5)
Vol.31 No.2 2009
6)
Vol.2 No.4 pp.18-27 1988
7)

-1098-

2000




